
INSTALLATION & OPERATION 
MANUAL CRANK UPGRADE KIT

 
RV Kits 

THE MANUAL CRANK ELIMINATES THE NEED FOR SPRINGS AND ROLLER LOCKS.

THIS UPGRADE KIT FITS THE SPIRIT, FIESTA AND SIMPLICITY AWNINGS.

COMPONENT CHECK LIST 

mc016

LH Idler
End Plug

RH Manual Crank
 End Plug

#10 x 5/8 Screw
Truss Head Square Drive
(qty: 5)

Crank Handle
(sold seprately)

1/4-20 x 7/16 Screw
Phillips Head
(qty: 2)

 

REPLACE THE RH END PLUG 
REMOVE THE EXISTING SPRING 
1. Extend the awning out completely. 

2. On the left side, lift and lock the upper brace in position.  Insert a 
cotter pin through the cap and spring (refer to Detail A). 

3. On the right arm, grasp the end plug firmly with vice grips. 

CAUTION 
WHEN REMOVED FROM THE ARM, THE SPRING IS UNDER EXTREME 

TENSION AND WILL UNWIND QUICKLY.  KEEP HANDS AND CLOTHING 

CLEAR WHILE FIRMLY HOLDING THE VICE GRIPS!  DO NOT TRY TO 

HOLDTHE END PLUG BY HAND. 

4. Remove the attaching screw and remove the end plug from the 
arm while firmly holding onto the vice grips. 

NOTE: 
 It will be necessary to hold onto the arm and move it out 

of the way when the end plug is removed. 

 It will be necessary to support or hold the roll bar during 
the rest of the procedure. 

5. Place the roller lock in the CLOSE position then unwind the 
spring.  To unwind, rotate the end plug over the top and 
towards the coach. 

6. Remove the screws attaching the end cap to the roller tube. 

7. Remove the spring from the roller tube and set aside. 

8. Slide the remote lock out of the round groove of the right arm and set aside. 

INSTALL THE MANUAL CRANK END PLUG 
1. On the right end, firmly seat the endcap of the manual crank 

end plug onto the roller tube.  This endcap has 3 access slots 
to line up with the slots of the roller tube.  Attach the endcap 
and roller tube using three (3) #10 x 5/8 square drive screws. 

2. Insert the RH arm channel into the end plug.  Align the hole in 
the end plug with the threaded hole in the arm. 

3. Attach the arm and end plug using one (1) 1/4-20 x 7/16 
phillips head screw. 

4. Remove the cotter pin in the LH end plug that was inserted 
previously. 

052561-101r1 1 May, 2010 

SF018a

Unwind

End
Plug

ViceGrips

Spring
Lock Pin

Detail A

Remote Lock
(Spirit & Fiesta Only)

Detail B

Right Arm

#10 x 5/8
Square Drive Screw
(qty: 3)

mc004c

Align Slots

1/4-20 x 7/16 Screw
 

Figure 2.  Attaching the Manual Crank. 

 
Figure 1.  Removing the RH Spring. 



CAREFREE OF COLORADO MANUAL CRANK UPGRADE KIT 

052561-101r1 2 

REPLACE THE LH END PLUG 
Special Note:  The LH spring can be left in the roller tube.  The spring will then act as an assist when 
retracting the awning.  It is not necessary to have a spring for proper operation.  The directions below replace 
the LH spring with a new idler end plug. 

REMOVE THE EXISTING SPRING 
1. On the right side, lift and lock the upper brace in position. 

2. On the left side, release and lower the upper brace out of the way. 

3. On the left arm, grasp the end plug firmly with vice grips. 

CAUTION 
WHEN REMOVED FROM THE ARM, THE SPRING IS UNDER EXTREME TENSION AND 

WILL UNWIND QUICKLY.  KEEP HANDS AND CLOTHING CLEAR WHILE FIRMLY 

HOLDING THE VICE GRIPS!  DO NOT TRY TO HOLD BY HAND. 

4. Remove the attaching screw and remove the end plug from the arm while 
firmly holding onto the vice grips. 

NOTE: 
 It will be necessary to hold onto the arm and move it out of the way 

when the end plug is removed. 

 It will be necessary to support or hold the roll bar during the rest of 
the procedure. 

5. Unwind the spring.  To unwind, rotate the end plug over the top and towards the coach. 

6. Remove the screws attaching the end cap to the roll bar.  Set screws aside. 

SF017a

End Plug

ViceGrips Unwind

 
Figure 3.  Removing the LH Spring. 

 

7. Remove the spring from the roll bar and set aside. 

INSTALL THE MANUAL CRANK END PLUG 
1. Orient the end cap of the new idler end plug with the roller tube.  The 

access slot of the end cap must align with the roller tube slot that has 
the canopy polyrod. 

2. Firmly seat the endcap on the roller tube and attach using two (2) #10 
x 5/8 square drive screws. 

3. Insert the arm channel into the end plug.  Align the hole in the end 
plug with the threaded hole in the arm. 

4. Attach the arm and end plug using one (1) 1/4-20 x 7/16 phillips head 
screw. 

#10 x 5/8
Square Drive Screw
(qty: 2)

mc004d

Align the Cap Access Slot
and the Roller Slot w/ the Polyrod 

1/4-20 x 7/16 Screw

 

Figure 4.  Attaching the Idler End Plug. 

 

 

 

This completes the conversion for the Manual Crank Upgrade Kit.  For operation, follow the directions in the owner's 
manual (052561-201, Manual Crank Patio Awning - Available on-line at www.carefreeofcolorado.com) 


	Component Check List
	Replace the RH End Plug
	Remove the Existing Spring
	Install the Manual Crank End plug

	Replace the LH End Plug
	Remove the Existing Spring
	Install the Manual Crank End plug


